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LABJNDu4 standard lightnessl*

Ya=Yw - nc=100,

|* LABINDU4 =IN(A 17 +ARY)/(ArAon)  (Ynd/100<Y<=Yoo)

=IN(A 1 +A2X)/(A2yAon) (x—Y/YQ
4 2u\0n,
L'ngg) £ Tl DL weger
L*,=49,1* ,=1780
V4 I
/ .
A 1
- 1
L}
I* 95=2770,81, A 6666, A,=d,0438, ¢=0,42
I*1=1779,78, Ay | W007, A,=0,p024
I*3,6782,77)%,=1 ™9,78 =18
n

= o=l
L] — =
- XN=0.2  Ixy=5

application
range

LABJINDu4
tristimulus value difference
Yoc=Yw nc=100,
I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY=Agn(A1r+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,15, Ay=0,6666, A,=0,0438, ¢=0,42
dY,5=0,03, A,1=0,007, 4r=0,0024
dY3,6=0,01 Y,=18, dY=0,03

y
I*,=178Q dY,=0,03 dY,/Y,=0, 0018 o
log(dY)=0,03 m,=0,85

= A=0,2

application
ge

log AY/Y) LABINDU4
_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)
AYY=Ag(Arr+ Ao Y)Y =Agn(Ag A )Y
(dY/Y)=0,0016, A=0,6666, A,=0,0438, ¢=0,42
(dY/\§=0,0018, A=0,007, A4,=0,0024
(dY/Y}(=0,0029 Y,=18, dY=0,03

application
< range
log(dY/Y)E-2,72 m=-0,1.3 ~ _ .

I*,,=1780 dY,=0,03 dY,/Y,=Q Q1A% 2
xN=0,2 Xw=5

LABJINDu4
tristimulus value contrast
Yoc=Yw nc=100
I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)
L aganDua =IN(A 10+ A2X)/ (A Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

I*,=1780 d¥,=0,03 Y,/dY,=529 _ _

=3
log(Y/dY)=2,72, m=0,13 - = ~

C,=(Y/AY)

(YIQY=5%.6,34, Ay=0,6666, A=0,0438, =042
(Y/dY)5-529,53, A;=0,007, A0, oozagp ication
(Y/dY'g =339,41 Y,=18, dY=0,08

xn=0,2 'xW:5

TUB-test chart CEU4; LABINDU4*(Y) & L*(Y), Ya=(Y&

LABJNDu4 relative standard lightnessl*/I*

/1 Yoc=Yw - nc=100,
u

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
1* | ABaNDU4 =IN(A 10 +AL)/(A2iA0n) - (X=Y1Yy)
1*N(3,6)=783 % ,(18)=1780* ,(90)=2771

I* og/l* =1,55, Ay=0,6666, A,=0,0438, ¢=0,42
I* 1g/1* =1,00, A;;=0,007, 4,=0,0024
I* 3 fI* ;=0,43,1% =1779,78 =18

log[i*/I* ]=0, m,=0,33

log(AY/AY,) LABJINDu4 relative
AYIAY tristimulus value difference
i YocmYw - nc=100,

1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0438, ¢=0,42
dY,5/dY,=1,00, A=0,007, A0,0024
dYs,gdY,=0,31 Y, =18, dY=0,03 ;
-

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDu4 relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU4=IN(A 17 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)

(dY/Ypo/(dY1\=0,88, Ay=0,6666, A,=0,0438, ¢=0,42
(AY/Y)g/(dY/Y)=.00, A;=0,007, A=0,0024
(dY/Y) (dY/Y)=1,°] Y,=18 dY=0,03

S
10g[(dY/Y)(dY/Y),]=0, m=-0,13 1
I* =178 dY,=0,03 dY,/Y,=0,001§
%=1
XN=0,2 Xw=5

application
range

log [(Y/AY) 1 (YIAY),] LABJINDu4 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY}o(Y/dY)=1,12, Ay,=0,6666, A,~0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A ,=0,007, A;=0,0024
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,03
log[(Y/dY)(Y/dY),]=0, m,=0,13

*,=1780 dY,=0,03 Y,/d¥, %029
r 1 application
1 range
Ix =1
il
XN=0,2 Xw=5

LABJNDu4 standard lightnessL*

YoeL*w -~ nc=100

L* LABJNDU4_:n(A1n+AZnY)//((A2nA0:)) ((Y Clj'00)<Y<: ho
=In(A AzAo, Xx=Y, ‘Qj
L*f@l]ﬁ =78&L. ﬁ Ql_* 90;’2171
L*,=49,L* ; =l780 1
1
1
1
1 1
L*gg=2770,81, Ay {16666, &u:b,0438 ¢=0,42
L*16=1779,78, A, : 8007, A4,=0,0024
L*3 782,771 L 79,7814
1 ' |>ﬁ 1
TITxn=0.2° 1xy=5

appllcatlon
ange

CEU40-1A

log(AY) LABINDu4
AY tristimulus value difference
Y=L w nc=100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
dY=Agn(A1r+AsnY)=Aon(A1+AgX), See CIE 230:2019
dYeg=0,15, Ayr=0,6666, A4,=0,0438, ¢=0,42
dY,5=0,03, A,1=0,007, 4r=0,0024
dY3,6=0,01 Y,=18, dY=0,03

CEU40-3A

log (AY/Y) LABJINDu4

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0016, A,;=0,6666, /,=0,0438, ¢=0,42
(dY/Y)g=0,0018, A=0,007, A,0,0024
(dY/Y} £=0,0029 Y,=18, dY=0,03

application
range
log(dY/Y)-2,72 m,= o e

L*,=178Q dY,=0,03 dY,/Y,=0. nrm:}ﬁ1
XN=0,2 Xw=5

CEU40-5A

log (Y/AY) LABJINDu4

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L* L aBaNDUa=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,0)

L* LaBaNDua=IN(A 15+A2 ) (Ag Aon) - (X=YTYY)

YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
L*,=1780 dY,=0,03 Y,/dY,=529 __ _ _
log(Y/dY)2,72 m=0,13 - = =

(YIQY=596,34, Ay=0,6666, Ay=0,0438, =042
(Y/dY)§=529,53, A;=0,007, A0, oozagp ication
(Y/dY} 339,41 Y,=18, dY=0,08

XN=0,2
CEU40-7A
CEU4L-7N

)Wne
Lightness, sensmwty and contrasto,ﬁco 6666, A~=0,007, A+=0, 0024 /QU—O 044

LABJINDu4 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)
L* aBaNDua=IN(A 1+ A2 X)/(AoAon)  (X=Y/Yy)
L*(3,6)=783 L* ,(18)=1780 L* (90)=2771

L*gy/L* =1,55, Ay=0,6666, /,=0,0438, ¢=0,42

L* 1g/L*,=1,00, Ap=0,007, /40,0024

L*3 gL*,=0,43 L*,=1779,78 \=18

log[L*/L* j]=0, m,=0,33

L* =49, L* ,=1780

CEU40-2A
log(AY/AY,) LABJINDu4 relative
AYIAY tristimulus value difference
u YoerL*w - nc=100,

L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0438, ¢=0,42
dYgdY,=1,00, Ar=0.007, 4,=0,0024
dY;,¢dY,=0,31 Y,=18, d\=0,03 2
y
L SQdY =0,03 dY,/Yy 00013 -

log[(dY)/(dY)u] =
1 application
1 range
%=1

CEU40-4A
log [(AY/Y) | (AYIY),] LABJINDu4 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

(AY/Y)o/(dY/Y)=0,88, Ay=0,6666, A,=0,0438, ¢=0,42
(AY/Y)g/(dY/Y)= .00, A;=0,007, A=0,0024
(dY/Y} (dY/Y)=1,°1 Y,=18 dY=0,03

S
10g[(dY/Y)(dY/Y),]=0, m=-0,13 1
L* =178 dY,=0,03 dY,/Y,=0,0018
%=1
XNn=0,2 Xw=5

application
range

CEU40-6A
log [(Y/AY) I (YIAY),] LABJINDu4 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(Y/dY)=1,12, A5,=0,6666, A,=0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A;=0,007, /4,=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,03

log[(Y/dY)(Y/dY),]=0, m=0,13

CEU40-8A

ox=0,43, with more data
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